


b
£ (a <x< b) = Iw(x,' l, )dx (4.1)

XTCW(X; l) )dx =1 (4-2)
ZB =1 (4.2)

m, (t) M {x(t)} I xw(x t)dx (4.3)



D,()= M {(t)-m, ()} }

o.()=M{)-m.OF }= JD.0)
W(xl’xzftptz)

K, (tl’t2 ) = M{x(tl )x(t2 )}

K, (tl 1 ) = I lexzw(xl Xy 11 )dxldxz

(4.4)

(4.5)

(4.6)

(4.7)



K, (.1,)= I w4, ), = M4 ()} 47
R, (tl 1 ) = M{[X(tl )_ m, (tl )][x(tz) —m, (tz ))]} )
Rx(tl’t2)= Kx(tl’tZ)_mx(tl )mx(tz)
K (t.0)=m@m ()= R.(.1)= D, ()



o o)

m_= M{x} = :‘;xw(x)dx
K. (c)= M)+ )}

R(c)=K ()-m;

D, =K (0)-m:=R(0)=0

o, =K (0)-m
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X

(4.9)

(4.10)

(4.11)

(4.12)

(4.13)



x\? 51_1)7;10— J'x(z‘)dt

T/2

K (T) llm— Ix(t)x(t+f)dt

~T/2

R(c)=K.()-[x()}
D, =K (0)-[x()f =0

o, =K, (0)-[x(1)]

- ©)=r Y, =KL )wa

(4.14)

(4.15)

(4.16)

(4.17)

(4.18)

(4.19)



